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Mass entering per unit time at section 1=p, 6Au,

Mass leaving per unit time at section 2=p, dA,u,
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Velocity = u,
Density = p,
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0,04,u, = p,04,u, = constant
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plQl = p2Q2 + ,03Q3 for incompressible fluid, p, = p, = p, Q1 = Qz + Q3
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Mass inflow through ABCD in unit time = pudyoz

Mass outflow through EFGH in unit time = [ pu + 83 (pu ﬁx}éyéz
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Net outflow in unit time in x direction = 8_
X
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2 (pu )oxdydz

Net outflow in unit time in x direction = ~
28

Net outflow in unit time in y direction = g (pv)oxdydz
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Net outflow in unit time in z direction = pw (pw)oxdydz
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Total net outflow in unit time = {Q (pu)+ 9 (pv)+ 9 (pw)}éxéyéz
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Change of mass in control volume in unit time = _op 0X0Y0Z
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